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have several problems of students behavior,please give some cause of
it and some suggest.ampl] complete education. Discuss both sides



and give your opinionVOOU 1 O O OO0 OO0 OO0 Oooonnon
[ 0O O O O Some people think that machine translation is highly
developed in today’ s society, therefore it is not necessary for
children to learn a foreign language. What’ s your opinion?V
100TASK 1The chart shows the proportion of the different age
group attaining a range of courses in a college in 2001,0ne is
academic courses ,one is arts courses the last one is sports and health
course, the group is 19-25/26-39/40 and above 40 academic 55%are
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26-39 u should explain why the proportion should be

different. TASK 2Some people believe that a country should have the
moral obligation to help the other country and some of the people
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00000000 O Version 1030ver past 50 years,young people
gain status and power but old people have lost. What is the cause and
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